GRTEX I: DR. C MKOMBE

Lecture 1: The Greek Language (Pg 128 - 129 vocabulary [ist)

New Testament (NT) Greek belongs to a large language family known as the Indo-European
languages. This history can be traced from the 14™ century B.C to the present day. It

includes such languages as, Latin and all the Latin derivatives, plus German and English.

Importance of Greek Language

We study Greek not as a spiritual language or exercise, but we study Greek as a tool. Why
Greek in particular? The NT was originally written in Greek and thus, the thought of writers

as they wrote are best understood as one explores the language in which they wrote.
Stages of the Development of the Greek Language

There are five (5) stages through which the Greek language passed through in its

development:

1. Pre-Homeric Stage 1000 B.C.E — traced from as far back as 1000B.C.E.
As early as third millennium B.C.E (3000B.C.E), tribes of Indo-European peoples
wondered into Greece, unfortunately because we lack literary remains, we know little
about the Greek language then.
2. Age of Dialects/ Classical Era (1000B.C.E- 330B.C.E)
Geography (plateaus prominent in Greece) and politics caused Greek to fracture into
several dialects, four of which were predominant and these predominant ones are:
I.  Aeolic
Il.  Doric

1. lonic



IV. Attic; the most influential one.
Attic Greek was an offspring of lonic. It was the dialect of Athens, the political and
literary centre of Greece during the Golden age. Attic is often associated with
Classical Greek.
Koine Greek (xvown) 330 B.C.E — 330 C.E (A.D)
Koine was born out of Alexander the Greats conquests. First his troops which came
from Athens as well as other Greek cities and regions had to communicate/ speak to
one another. This close contact produced a melting pot Greek which inevitably
softened the rough edges of some dialects and lost the subtleties of others. (As
Alexander went on his conquests he brought the different groups, with different
dialects and as they were incorporated into the Greek army it was needful for them to
communicate and this resulted in the common language.
The conquered cities and colonies learnt Greek as a second language. By the first
century (1¥) A.D Koine Greek was the Lingua-Franca (common language) of the
whole Mediterranean region and beyond.
Byzantine / Medieval Greek 330 A.D — 1453 A.D
When the Roman Empire split between the East and the West, Greek lost its status.
Latin was used in the West and Greek was used in the East.
Modern Greek 1453 A.D — Present
In 1453 A.D the Turks invaded Byzantium, when this happened Greek was no longer
isolated from the world.
Renaissance (the rebirth) was born in the world as scholars fled with copies of the
Greek classics (among them NT manuscripts) under their arms. The reformation
developed in Northern Europe as NT Christian scholars became aware of the NT

Greek manuscripts.



- Although Greek got out of the East, Europe did not get in i.e. Copies of Ancient
Greek literature finally brought Europe out of the Dark Ages, but Europe had no
impact on the living language and the net effect is that the Modern Greek popular
speech does not differ materially from the vernacular byzantine and this connects
directly with vernacular Koine. The Greek language has changed less over 3 millennia
than English has in one. Today there are two levels of Greek:

i.  Kathereuousa — is the literary language.

ii.  Demotic — is the popular language.

NB. Kathereuousa is not a historical development of the language but is a book Greek and an
artificial attempt to resurrect Attic Greek. Since 1977 Demotic Greek has been the official
language of Greece tracing its roots directly back to Koine. Koine is the Feminine adjective

of Koinos, the synonyms of Koine are, Common Greek or Hellenistic Greek.

Transliteration Greek
Koine Ko
Koinos KOWVOG

Types of Koiwvn Greek

- At least three types exist, and these are:

a) Vernacular/vulgar Koine Greek
This was the language of the streets, a colloquial (informal and not grammatically
correct) popular speech, found principally in the papyrus excavated from Egypt which

was the Lingua franca of that day.



b)

d)

Literary Koine Greek

Literary Koine is a more polished Koine, a language of the Scholars and Writers, of
Academics and Historians. In comparing it to the English language, differences
existing between Literary and vernacular are similar to the differences between
English spoken in the streets and that in the places of higher learning.

Conversational Koine Greek

This is the spoken language of the educated people. It is grammatically correct for the
most part, but not on the same literary levels as literary Koine.

It is the one which was used to write the Greek New Testament.

Atticistic Koine
This is the artificial language which is used by writers who are trying to go back to

the Golden age of Greek language (Attic of the age of Dialects)

GREEK ALPHABET

The alphabet used back then is still the same alphabet used today in Greece. It is
similar to the English alphabet.

In Greek writings, sentences do not normally begin with the capital letters; instead
capitals are usually reserved for proper names like, Peter, Galilee and many other
proper names.

Due to this, capitals are less frequently used than small letters. The small letters are

referred to as minuscules. The capital letters are referred to as majuscules.



NAME FORM SOUND

Small Caps
Alpha a A a father
Beta B B b boy
Gamma Y I g game
Delta d A d dog
Epsilon € E e etch
Zeta & Z z daze
Eta n H e obey
Theta 0 C] th theology
iota ! I I immediately
kappa K K k keep
Lamda A A I lamb
Mu u M m mother
Nu v N n now
Xi & E X lax
Omicron 0 (@) 0 omelette
Pi T I1 p papa
Rho ) P I rose
Sigma ¢, o > S same
Tau T T t take
Upsilon v b u tulip
Phi [0) D ph phone
Chi X X ch Christ
Psi U} o ps tops, pseudonym
Omega ® Q o told

This is the conventional order. Capital letters need not be learned at this time; they are picked up quite naturally
because many of the capitals are more like the English letters than the cursive form and the remaining letters are easy
to pick up by simply sounding out the remaining letters in the word.



Vocabulary list
0, M, 10
Ko,
avTOC
o070,
v

oV

ooV

ool

oé

VpElg
VUOV
LITRAY
VUag

O¢,

v,

EYD
€U0V, LoV
£uot, pot
Eue, ué
nueig
oV
Ny,
nuag
elud
Ay

elg

the

and

he

it

she

you (singular)
of you, yours
to you

you

you (plural
yours (plural)
to you

you

and

in

|

my, of me

to me

me

we

our of us

to us

us

| am

| say

into



oV

0g
otitog
adtn
10110
0e0¢
ot
Téig
Hn
Yop
‘Incotg
€K

émi
KOPL0G
X
Tpog
yivouor
o
tva
and
GALG

Epyopon

not

who

this (masculine)
this (feminine)
this (neuter)

God

that, so that, because
all, every

not

for

Jesus, Joshua
from, out of

on, over

Lord, lord, master
| have, hold

for

| become, am born or made
through, during

in order that, that
from, away from
but, yet, rather

| come, appear, go
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Comparisons with the English Alphabet

1. The Greek Alphabet has 24 letters whereas the English has 26.

2. Eleven (11) of the Greek letters are already known because they are identical to the
English letters even in their appearance.

3. Four (4) letters have the same sound as English even though the form of the letter is
different.

4. Six (6) letters of the Greek Alphabet look like the English but are completely
different.

5. The three (3) remaining Greek letters are new to us, both in sound and form.
Those similar in form:
Alpha, o — is similar to “A, a” in English.
Beta, B — is similar to “B, b”
Delta, & - is similar to “D,d”
Epsilon, ¢ - is similar to “E, €”
Zeta, ( - is similar to “Z, z”
Iota, 1 - is similar to “I, 1”
Kappa, « - is similar to “K, k”
Omicron, o - is similar to “O, 0

Sigma, ¢, ¢ - 1s similar to “S, s”

Tau, 1 - is similar to “T, t”



Upsilon, v - is similar to “U,u”

Those similar in sound, but different in form:

Theta, 0 - th

Lamda, A - L

PLm-P

Phi, ¢ — ph

False friends; have similar sound to the English letter and even look like the English

letter, but means something different:

Gamma, v — g. Not English y,Y

Eta, n — € long or lengthened e. Not English n

Mu, p —m, not English U.

Nu, v —n, not English V.

Rho, p —r, not English P.

Omega, ® — 0 long o and not English w.

Completely new in form

& & X

X X_Ch

v, v — Ps.



Vowels and their combinations (Diphthongs)

Q. what two types of letters are found in the alphabet?

A. Consonants and VVowels.

Diphthongs

A. A diphthong is defined as two vowels next to each other that are treated as one.
An example from the English may be seen in the word, “group”. There are two
vowels side by side in this word: the “0” and the “u”. But we treat them as one (a
diphthong), giving them the sound of the “00” rather than “oh — 00”.
B. In the majority of words in the Greek NT, two vowels side by side diphthongs.
C. The most frequently used diphthongs in the NT, with their pronounciations are :
ui, vt — pronounced “we” in uios, viog — translated, son.
ou, ov — pronounced “ou” as in akousas, akovcag — translated, you heard.
eu, v — pronounced “eu” as in feud example svloyew translated i speak well of.
au, aw — pronounced “ou” in OUt.
el, €1 - pronounced as the “ei” in eight.
0i, o1 — pronounced as “oi” in 0il.

ai, o — pronounced as “ai” in aisle.

Another form of Diphthongs are called iota subscripts. In many instances the final iota of a
word is not written at the end but under the preceding vowel. In such cases the preceding

diphthongs are written:

oL - o n-n oL - o



Accents and Syllables

Just as in all languages, words have one or more syllables (divisions in words that must be
pronounced clearly and distinctly) and in Greek, words with more than one syllable have one

of the syllables accented.
Example
In the English language, a word like, Go has one syllable, while na e has 2 syllables.

In English words are not accented, while in Greek they accent the words to know or indicate
when to stress or emphasize the sound of letters. In Greek you do not have to guess, the

syllable that has to be stressed is accented.

There are three forms of Greek accents used:

i) Acute accent - / , e.g. "lobvwnc — “John” alpha bears the acute accent in this
example.
ii) Grave accent - ™, e.g. 8t — “and”

iii) Circumflex accent - ~ e.g. avtov — “his”, Xp1otod — of Christ or Christ’s.
The three different forms all perform the same function. In Greek, even in one

syllable words, you may find an accent.

Syllables

Principle: Divide a words syllable immediately following a vowel unless there are two
consonants following one after the other, In which case the first of the two consonants is

added to the preceding vowel. A consonant cannot stand on its own.



Example 1

OKODYD

G O ¢ — there are three syllables. Note after the vowel alpha is the first division

and after alpha is one consonant. After the consonant kappa there are two vowels which are
or constitute a diphthong and by definition are treated as one and therefore cannot be divided.
The final division is after the diphthong but before the consonant sigma. Note that there is no
division after the final vowel alpha for the simple reason that a consonant cannot alone make

up a syllable.

Example 2

T e u‘\y O G - there are two syllables. Notice the division is placed in-between two

consonants which are preceded by a vowel.

Example 3

0E0C L OTNP LO — there are five (5) syllables. Note the separation of the two

consonants, o and u which are preceded by a vowel &. worth noting also is the division
effected between vowels which follow each other complying with the principle, which says to

divide immediately after a vowel.

Vocabulary List

[Mokw | do, make
Tig (acute accent) who? Which? What?
avOpwmog man, human being

Xprotog Christ, Anointed One, Messiah



115 (grave accent) someone, anyone, something

(0 as

et if, that, whether

oV so, therefore

Kotd down from

HETA with, among, against

Ophiw | see, notice, experience, perceive
Gxovm | hear, listen to

TOADG much, many, large

didmp | give

TP father, ancestor, Father

nuépa day, daylight

Tvebua wind, breath, spirit

viog son, male offspring

EQv if, when

&ic (rough breathing mark) one, a, single, anyone, someone
GOENPOC brother, fellow believer

1N (smooth breathing mark) or, either, nor

nepl about, concerning, around



Adyog

oo

oida

AOAED

ovpavog

éxetvog

pobntig

AopPavem

M

Heyag

TOTIC

TIOTEV®

0V0Elg

aylog

amoxpivopon

ovopa

YWOCK®

VO

E€EpyopLan

word, statement, message

(of) himself, herself, itself

I know, am acquainted with, understand

| speak

heaven, sky

that

disciple, learner, pupil

| take, receive, collect, seize

earth, soil

large, great, loud

faith, trust, belief, faithfulness

i belief (in), have faith (in)

no

holy, dedicated to God, pure

i answer, reply,

name, title

| know, learn, understand

by, at the hands of

| go out or away, come out



dvnp, Gvopog

YoV

¢

dvvopot

0é e

ovtmg (rough breathing mark)

000

Tovdaiog

husband, male (male)

woman, wife, bride

and, and so, so

| can, am able

I wish, will, desire, want

in this manner, thus, so

look, behold, see

Jewish,
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Example 4

Vo |u 0 G- there are only two syllables.

Example 5

cof ‘B o }'r 0 V — there are only three (3) syllables.

Example 6

(1\117 0 G\T O‘X 0 ¢ - there are four syllables.

N.B for convenience special names have been devised for the last three (3) syllables for any
given word. The last syllable of a Greek word is termed the Ultima, the second to the last is

called the Penult, and the third syllable from the end is called the Antepenult.

Example

a\n 0 G‘T 0|\ 0 G+—ultima

No nam/ Xenult

Antepenult



Accents of Nouns

As you study nouns, for example avOpwmrog you will notice that its accents follow a certain
pattern. The various cases attempt to keep their accents on the same syllable, but whenever
the ultima exhibits a long vowel or a diphthong (which by nature is long in sounding) the

accent is moved to the penult syllable. In fact a rule of accents to learn is as follows:

o [f the ultima has a long sounding vowel like, n or w or a diphthong, the accent may
not go further than the penult. This applies also to the verbs
e |f the ultima has no diphthong or long sounding vowel, then the accent will go to the

same syllables as in the nominative case.
Example

Nominative case

4 v|0 P O|TL O C —translated man or human being.

0, omicron is a short vowel therefore the accent must go to the antepenult. If it had been o,

omega a long vowel or a diphthong then the accent would have been relegated to the penult.

Genitive case

o v‘@ p d)‘ﬂ: 0 U - translated of man or man’s indicative of the possessive element.

Since the vowel(s) in the ultima by virtue of being a diphthong and consequently long, have

the effect of relegating the accent to the penult as observed in the above example.



Dative case

‘av p @ T () — the iota subscript diphthong has the effect of long vowels and thus

relegates the accent to the penult syllable.

Accusative case

A V‘@ p CO'TC O V - ashort vowel in the ultima thus the accent goes as far as the

antepenult.
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Accents of Verbs

Rule/ Principle: The general rule which applies to verbs is that the accent will move away
from the end of the word as far as the vowel will permit. The last vowel in the word is the

crucial point to watch. If the last vowel is long e.g. n or w, or if the final vowels make a

diphthong, then the accent is not permitted to move away from the end further than the

penult.

Example 1

1) é[v ® — is first person singular and is translated, “i remain”. Since final vowel is long the
accent is restricted to the penult.

Example 2

Tl G‘ T S/IF M — is a first person singular verb and is translated, “i believe”. Just like in

example 1 above final vowel is long and thus accent is restricted to the penult syllable.



Example 3

’(/l"y € 1 ¢ —is a second person singular verb and is translated “you go”. The last vowels are

a diphthong and imply the accent be restricted to the penult.

N.B
- All words beginning with a vowel must have the vowel bearing a breathing mark
which can be either, rough or smooth.
- If the final vowel is short, especially when you have, a, o, 1, €, or v, the accent will
recede to the antepenult.
Example 4

n é,\’ O‘ U € V —is a first person plural verb translated “we remain”. It has three syllables

and a short vowel in the ultima hence the accent will recede to the antepenult.

Example 5

TLlLO ‘ TE 6‘0 l)lG L V —is a third person plural verb, translated “they believe”. It has

four syllables and since the final vowel is short the accent is located on the antepenult.

NB — the diphthongs, av and ot are regarded as short unless they are followed by a

consonant, e.g. ong and oig are long since they are followed by sigma (<).

- If an accent falls on a diphthong it is placed over the second vowel of that diphthong,

(see Example 5).



Accents of Nouns
A new rule which applies to the accenting of Greek nouns and all other words is as follows:

RULE: If a word has a long vowel for its penult vowel and at the same time the penult vowel
is the one to be accented (or to receive the accent), the accent will change to a circumflex
whenever the ultima has a short vowel. If the ultima has a long vowel or a diphthong then

this rule does not apply.

Example 1

T b 0 & i 7TV O V — the two words are translated “the feast”. The final vowel of the

ultima is short and since there are only two syllables the accent must be placed on the penult
vowel, in this example a diphthong (which is a long sounding combination of vowels) and so
the accent changes from the acute accent to the circumflex in accordance with the rule or

principle of accents. dewvov is a singular noun of neuter gender and of the nominative case.

Example 2

TOVD O0¢ 1/ TV 0 U - translated, “of the feast” its case is genitive, singular and of

neuter gender. Above rule does not apply since the ultima has a diphthong, therefore an acute

accent is placed on the second letter of the diphthong in the penult.

Example 3

T 0¢ { T V () — translated, “to the feast”. Case is Dative, singular in number and

gender is neuter.



Example 4

TO 01w voy-— singular noun of the accusative case and neuter gender.

Translated “the feast”.

Examples using plural nouns
T0 O Si‘ﬂf V 0L — nominative case, translates to, “the feasts”.
TOV 0¢ i TC‘V ( V — genitive case, translates to, ““ of the feasts.

. e
Tol S O™ ‘V 0 1 C — Dative case, translates to, “to the feasts”. An earlier rule

stated that —OLG is long sounding therefore thus the acute accent is placed on the penult

diphthong.
Ta o¢ i TT|V (0 — Accusative case, translates to, “the feasts”.

ENCLITICS

A few Greek words regularly omit their accents and are pronounced as though they were a
continued syllable of the word before them. Such words are called enclitic words or enclitics.

These are in simple terms words without accents.

The unaccented forms of the personal pronouns like;

Qot, oV, RE, 60V, GOL, are enclitics. The present tenses of ELNL are the most

commonly found enclitics. Enclitics sometimes influence the accenting of the preceding

word, and the rules governing this are as follows;
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RULE: A word that is accented on its antepenult will receive another accent on its ultima if it

is followed by an enclitic.

Example 1

‘0 0 l|5 a GlK o P\. 6 G [ 0 V —translated “my teacher”.

RULE: If a word has a circumflex accent on its penult, it will receive another accent on its

ultima when followed by an enclitic.

Example 1

‘0 0 0D|A06C MOV - translated, “my servant or slave”.

THE BREATHING MARK

a rough breathing mark.

> _ smooth breathing mark.

Greek words that begin with a vowel or a diphthong always have a breathing mark. The
breathing mark goes over any vowel letter beginning a word and over the second letter in a

diphthong. It must always be over the vowel and in a diphthong over the second letter.

Examplel

‘o rough breathing mark. This stands for “h” and thus the word is pronounced —ho”

which is the definite article “the”.



Example 2

jaKOD(mg — is a second person, singular, first aorist verb which is translated “you heard”.

A Smooth breathing mark. Its contribution is silent in pronouncing and spelling words.

Significance of the breathing mark

E1C
£1C

- transliterated, “eis” is translated “into”

- transliterated, “ehis” is translated, “one”.

VOCABULARY BUILDING

This can be done in different ways which among others include:

1. Combining know words to form a new word.

Example

ovvy + O0VAOS = GVVOOVAOG
OVV — translated , “with or together”.
501))»0@ — translated, “servant or slave”.

GDVSODKOQ — translated , “ fellow servant”.

2. Through forming opposites, by inserting the « at the beginning of the word.
Example
I) dwkanog — righteous or just adukie. - wrongdoing, unrighteousness
adwkem — i do wrong, i am in the wrong or treat unjustly

I1) kaBapog —clean, pure.  axa®aptog - impure, unclean.



In English we have similar formation, with examples like,

Gnostic - where agnostic is derived by simple inserting “a” at the beginning.

Theist and atheist

3. Owk- root which in the Sanskrit has the idea ‘to show’ this root appears in the Greek verb
dewvopt, ‘1 point out’. It is common in the present tense stem of the Greek verb to
lengthen a root, as from dik- to dew-. This had the effect of showing repeated action in the
present tense form.

From o1k-, ‘to show’, ‘point out’, we get dik-1, ‘the way pointed out,’ i.e. ‘the thing which
is right,’ justice.

Examples of other words

OlK-1 - ‘right’, ‘justice’ ok-al® — ‘i render justice’

O0K-00-TNG - ‘a judge’ O1K-0.0-pog — ‘a giving of justice’

01K-0.0-1-pog — ‘judicial’ O01K-0.0-TIKOG — pertaining to the courts’, ‘the jurors fee’
O01K-01-0¢ — ‘one observant of the rules’, ‘righteous’ oK-a1-om — ‘i declare righteous’
OlK-01--po — ‘a righteous act’, ‘an ordinance, decree’ odwk-ou-m-61g — ‘doing justice’,

‘the act of setting right

OlK-01-®-TNG- ‘a judge’  dwk-ac-Tnprov — ‘a place of judgment’, ‘a house of correction’.

Words with the longer root —6gik-

- daikvom — ‘i show,” ‘i point out’.
- dgwypo - ‘athing shown’, ‘a pattern,” ‘a sample’.
- daypotilo — ‘| make a show of.’
- dgypoaTtiopog — ‘an exhibition,” ‘a public show.’

- dewnprov — ‘a place for showing.’



- dgKTng — ‘an exhibitor.’
- dgKTIKOG — ‘able to show’

- d&gig — ‘a showing,’ ‘displaying.’

This list could be indefinitely expanded by bringing compound words where two nouns are
united, dik-at-0-6-tng, ‘one who gives justice,” and by compound verb formed by prefixes. A
single letter added to a Greek root adds something to the idea expressed by the root. It will be

necessary to give the meanings of the various elements used in word building.

SUFFIXES

Noun Suffixes and their Meanings

For convenience to the learner, the noun suffixes will be listed in the form in which they

occur in the NT. The declension to which these nouns belong is indicated by the parentheses,

@), (), ).

1. Agent endings.
a. — g, mpo-en-tg, (1), ‘one who speaks for another,” ‘a prophet.” The

corresponding feminine is Tpoonric (3), ‘a prophetess.’

=

—mp, ewo-tp, (3), ‘a luminary.’

C. —1mp, p-T®p, (3), ‘an orator.’

o

. —egvg, (eF), ypappat-gdg, ‘a writer,” ‘a scribe,’; from ypaom, ‘i write’.
e. —tooa, Boocir-eea, (1), ‘a queen’; the feminine of Bacirede, ‘a king.’
2. Action endings.
a. — o1, dwim-o1g, (3), ‘an act of justifying.’

b. — poc, Khawb-, (2), ‘a weeping’; from khaiw, ‘T weep.” Root khaF.



Instrumental ending.

- tpov, AO-Tpov, (2), ‘an instrument for loosing’; from the verb Aw, ‘i loose.’

Compounded with avti, we get *avii-Av-tpov, ‘a ransom,” ‘something given instead

of'a person to loose (free) him.’

Result endings.

a. —ua, Tpay-pa, (3), ‘a thing done,” © a deed’; from, npdoow, ‘i do.’

b. — e, Pacir-gia, (1), ‘a thing ruled,” ‘a kingdom’; from Bociledw, ‘i rule.’

C. —og, €id-0g, ‘a thing seen,” ‘appearance’; from gidov, ‘1 saw.’

Quality endings

a. —otng, ayi-6tng, ‘holiness’; from dywog, ‘holy.” This ending should not be
confused with the agent ending —ng.

b. —0, coe-ia, (1), ‘wisdom’; from c6@og, ‘wise.’

C. — ovvn, coepo-cvvy, (1), ‘sound mindedness,” good sense’; from ocwc, ‘sound,’
‘whole + @pnv, ‘mind,” + cvvn, ‘ness.’

d. —oc, Pab-og, (2), ‘depth’; from Badvg, ‘deep.’

Diminutive endings

a. —1ov, moud-iov, ‘a young boy’; from maig, ‘a boy.’

b. —1okog, veav-tokog, (2), ‘a lad’; from veaviag, ‘a young man.’

C. —1okm, mad-iokn, (1), ‘a damsel.’

Place endings

a. — mpov, owac-Tipoy, (2), ‘a place where justice is dispensed’; from dwalw, ‘i
judge.’

b. — eov, pvnp-giov, (2), ‘a place of memorial,” ‘a tomb’; from the root pvn, ‘to

remember.’



8. Abundance, custom, chief characteristic.

3

- - olog, ‘apopt-®Arog, (2), ‘a man completely given up to sin,’ ‘a sinner’; from
Gpaptia, ‘sin.’

- - ¢gld-mhog, (2), ‘an idol or image’; from &idov, © i saw.’

- -d0vAog, (2), ‘a bondman,’ ‘slave,” or ‘minister’; from 0éw, ‘i bind,” + -oAog,.

dg + ohog =  doviog (where € + 0 = ov and to show that a contraction took

place a circumflex accent is placed over upsilon.)

MAJOR PARTS OF SPEECH

The major parts of speech in Greek are the same as in English. They are as follows:

1. NOUN - refers to a name of a person, a place or a thing.

2. PRONOUN - is a substitute for a noun.

3. ADJECTIVE - is a modifier of a noun or pronoun.

4. PARTICIPLE - is a verbal adjective, and usually ends with ‘-ing’ in English, e.g.
eating or running.

5. VERB - is an action word.

6. ADVERB - is a word used to modify a verb, adjectives or another adverb, e.g. they
usually end with ‘-ly’, firmly illustrates this in the following sentence:
The boy stood firmly. Stood is the verb that is being modified.

7. PREPOSITION - is a small word showing relation or function to the word
positioned after it, e.g.
A book on the table with initials FM is worth buying. On is a preposition.

8. Conjunction — is a word connecting words and phrases, e.g. and, but, if.
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GENDER

In English we have three (3) genders and the gender is recognized solely from the definition

and not by is spelling forms, e.g.
Boy is masculine by definition.
Girl is feminine by definition.
Tree is neuter by definition.

When you come to Greek, genders are recognized not only by definition, but also by spelling
patterns. When three (3) forms of a word appear in a vocabulary list, the three variations in

spelling are due to the three genders and these are always:

i. Masculine
ii. Feminine

iii. Neuter

Important points about Greek

Greek nouns, pronouns and adjectives have gender and both pronouns and adjectives must
agree in gender with the noun to which they refer. If a noun is feminine in gender the

pronoun describing it must also be feminine.

Example

House — is a noun and “It’ is the appropriate pronoun, He or She are not appropriate in this

case.



Declension — (derived from the word decline.)

Declension is a variation of the form of a noun, pronoun, participles or adjective to show its

grammatical case. These parts of speech have varying functions within a sentence.

Example 1 (English)

1. The house is near the city. House is the subject (in Greek — Nominative case).

2. He stole the door of the house. ‘Of the house’ is possessive case (Genitive case in

Greek).

3. The man went into the house. ‘Into the house’ is the Indirect object being referred

to — Dative case in Greek.

4. Lightning struck the house. ‘The house’ is the Direct object — Accusative case in

Greek.
Sentence with all four Greek cases

5. The Teacher took her book and handed it to the student.
I. ‘The Teacher’ — subject, Nominative case
ii. ‘Her’ — possession, Genitive case.

iii. ‘Book’ and ‘it” — direct object, Accusative case.

iv. ‘to the student’ — indirect object, Dative case.
CONJUGATION - derived from the word ‘conjugate’

Conjugation is a system of verbal inflection (inflection is a change in the form of (a word) to
express grammatical relation. The term applies only to verbs. When conjugating a verb,
information about tense, mode (or mood), voice, person and number is given. Depending on

the person spellings vary across 1°* person to 3™ person.



Tense

In most instances in Greek, tense refers to time i.e. past present and future time. In Greek the
most important time is the kind of action linked with it i.e. is the action continuing (present)

or is it completed (past) or yet to be done (future).

Mode/ Mood

Mode is that aspect of Greek that indicates whether action in the verb is factual, uncertain or

commanded. The three modes are:

I. Factual (certain) means or indicates a fact and is called the indicative mode.
ii. Uncertain —e.g. The man may go to town. It is referred to as the Subjunctive mode.

iii. Commanded — this is the imperative mode. ‘Go to town’ is a command

\Voice

Here there are three basic voices which are distinguished one from the other by noting
whether the subject in a given sentence is the doer of the action or the receiver of the action

or is doing the action to himself or for himself.

i. Active voice — the subject is the doer of the action, e.g. John is singing.

ii. Middle voice — the subject is the doer of the action and is doing it to himself, e.g.
Judas hanged himself.

iii. Passive voice — the subject is recipient of the action, in other words something is
being done to him by another. E.g. Steven was stoned for his faith or ‘The song

was sung for the man.’



Person

The words I, we, you, he, she or it refer to person.

First person: ‘I’ is first person singular and ‘we’ is first person plural.

Second person: ‘you’ is second person singular and plural.

Third person: ‘he’, ‘she’ or ‘it’ is third person singular and they is third person plural.

Number

Number refers to the quantity being spoken of or referred to i.e. singular or plural.

Parsing - derived from parse

Parsing is to describe (a word in context) grammatically, stating its inflection, relation to the

sentence, etc. It deals with both conjugation and declension, and means that given a verb to

parse one must give the information about the, voice, mode, tense etc. Also when parsing a

given noun you decline.

Guideline to Parsing

Word Tense Voice Mode Person Case Number Gender Dictionary | Translation
Form

Verb X X X X X X X

Noun X X X X X

Infinitive D X X X X

Participle X X X X X X X




Examples

A. Verbs
Word Tense Voice  Mode Person ~ Number Dictionary form  Translation
1. péve  present Active indicative 1% singular LEVD I remain
2. Mbouev present Active indicative 1% plural Mo we loose
3. pévopev present Active indicative 1% plural LEV®D we remain
B. Nouns
Word  Case Number  Gender Dictionary form  Translation

T p Nominative ~ Singular Masculine TaTp Father
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Endings of the 1%, 2" and 3" Declensions

The designation 1%, 2ndand 3™ declensions are merely terms to account for the various

patterns of spelling and not function.
First Declension

Here we find spelling patterns that consist mostly of the feminine gender, whose ending is

either —a or —n e.g. aydmm.
Second Declension

These are words whose spelling patterns consist of masculine and neuter genders.

Third Declension

This includes spelling patterns that consist of all three genders with the masculine and
feminine being identical - a large noun group whose stem ends in a consonant falls in this
class. A nominative in the 1% declension is precisely the same nominative in the 2" and 3"
declension. It simple has a different pattern for the spelling. The same applies for all the other
cases, genitive, dative and accusative. This one is clear when the patterns of spelling are
observed in the endings of — ayaf6¢ — ‘good’. The endings of ayofog in all three genders
must be mastered as they represent 43 declensions in spelling patterns for 1% and 2"

declensions.



Singular Endings

Cases Masculine Neuter Feminine
Nominative -0G ov N
Genitive -0V -0V NG
Dative -® -® -n
Accusative -ov -ov -nv
*

Endings for the Masculine Accusative and the Neuter Accusative and nominative are

identical. Context will determine if the word is Acc, Masculine or Neuter.

Plural Endings

Cases Masculine Neuter Feminine
Nom -o1 -0 -oL
Gen -@V -@V -@V
Dat -01G -01G -G
Acc - 0Vg -0, -0G

e These endings are endings for all 1% and 2™ declension nouns, pronouns, adjectives

and middle and passive participles.

e In the neuter gender the nominative and accusative both singular and plural are always

identical.

e The neuter gender is similar to the masculine, so much that there are only two (2)

endings to learn, nominative singular and nominative plural.

Nouns
Endings of aya06g: Singular

Case Masculine Neuter Feminine




Nom GryaB6¢

Gen dryaBov
Dat dyaBw
Acc GryaBov
Plural

Case Masculine
Nom dyaBot
Gen GyaBwv
Dat dryaBoig
Acc ayaBovg
Examples

dyadov

dyaBov

dyafo

Gyafov

Neuter

6006

dyabwv

dyaboig

Gyafa

dryaOn

dyabng

Gryadn

Gryanv

Feminine

dyaBodi

ayabwv

dryaBong

dyaBog

1. Aoydg — translated ‘word’ is masculine noun and follows the same pattern as dyafoc.

2. ¢pyov —translated ‘work’ is neuter noun and follows the same pattern as dyafov

3. ewvn — translated ‘voice or sound’ is feminine noun and follows the same pattern as

Gryaon.



Masculine Pronouns

Masc.  Translation Neut. Translation  Fem. Translation Case
avtog  He avto it avnTy She Nom
00106 this TOVTO this abtn this Nom
ékeivoc  that EKEVO that ékevn that Nom
6¢ who/ which 0 which n who Nom

N.B neuter pronouns have the same endings as the neuter adjective dyaf6v and neuter nouns

except for ‘v’ in the nominative and accusative singular.
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Masculine Pronouns (cont’)

There are times when the third personal pronoun avtog (He) is used as an adjective or to

show emphasis.

1. When there is no definite article in front of this pronoun the purpose is to show
emphasis e.g.
0 avBpwmog avtodg (translated, “The man himself) notice the absence of an article
before the personal pronoun.

2. Ifan article precedes a pronoun, it is translated “the same” e.g.
6 avBpomog 6 avtog (translated the same man)notice the present article before the
pronoun.

6 avtog 6 avOpwmoc translated as the above (word order does not mean anyting in

Greek.

The Definite article ‘60’ — ‘the’

The endings of dyaB6g also form the endings of the definite article ‘the’.

1. Just add a rough breathing mark to the masculine and feminine nominative endings,
both singular and plural.

2. Add the letter ‘t’ to all the other endings.

Singular forms of the definite article ‘the’

Case Masc. Neut. Fem.

Nom ‘0 70 ‘n

Gen 700 70V ™¢



Dat T® TO ™

Acc T0V 70 ™mv

Plural forms of the definite article ‘the’

Case Masc. Neut. Fem.
Nom. ol T ot
Gen. TOV TOV TV
Dat T01ig T01ig Taig
Acc T00¢ Td TOIG

Articles are those little words in front of the noun. In English, there are two articles; ‘the’ is
the definite article and ‘a’ is the indefinite article. Greek has only one article since there are

24 forms for it and its the definite article ‘the.’
NOTE the following about endings of first declension;

1. There are 3 variations in the endings of the singular of dya6n. You have a long -n
(eta) and alpha —a.. You can also have a —ng

2. There is no variation in the plural. It is always the same but the singular has three
variations.

3. The first 3 patterns are feminine and the 4™ pattern is strangely masculine.

4. Only povn follows the feminine endings of dyadn.



Singular

Case feminine feminine feminine Masculine
Nom ooV KapooL YADOGGO TPOPNTNG
Gen POVIS KOpO10g YADGGOG TPOPNTOV
Dat ooOvI KapO1aL YADGGA TpEN TN
Acc pOVNV KapO1oV YAOGGAV TPOPNTNV

The Question mark

The Greek question mark is written exactly like the English semi-colon ; therefore a

statement ending with it implies a question.

Example

=

el Xpot6g ; ‘are you Christ?

2. &i Xpiotdg. ‘you are Christ.

3. ovk Iletpoc éotiv; “is he not Peter?
4. ovx Iletpog éotiv. ‘He is not Peter.

5. éomnw Iletpog ovk; ‘is he not Peter?

As you read and encounter, “yy’ two gamma’s following each other they are to be pronounced

as —ng e.g.

VayyeAMOoV



Personal Pronouns

First Person

Case Singular
Nom &Y
Gen €OV, OV
Dat €uot, pot
Acc éue, né
TAKE NOTE:

a.

two forms listed.
b.

c. The other cases are used in usual pronoun sense.

Tranlation

my or of me

to me, in me

me

Plural

Nueg

Huov

v

NUag

Translation

we

our or of us

to us

us

In the singular the genitive, dative and accusative cases may be found in either of the

The nominatives are used for emphasis when they occur with a verb of the same

person e.g.

£ym pévo — translates to, ‘I myself remain’ yet literally it would be ‘I, I remain’.

Another example would be,

Nuewg pévopev Which translates to, ‘we ourselves remain’.



Second Person

Case

Nom

Gen

Dat

Acc

Singular

(V)

ooV

ool

O€

Third Person

Translation

you

your(s), of you

to you, in you

you

Plural

Vpeig

VpoV

Vuiv

Vpog

Translation

you

yours or of you

to you, in you

you

For the third (3") person the declensions have the endings of éyafoc.

Case

Nom

Gen

Dat

AcC

Singular

avTOg

aVTOV

aOTM

aVTOV

The Name of Jesus

Translation

He

his, of he

to him, in him

him

Plural

ovTOoL

oTOV

avTOIg

aOTOVG

Translation

Them

their(s),of them

to them, in them

them

The name ‘Jesus’ is irregular in Greek, it occurs in the following forms:



Singular

Case Masculine
Nom ‘Incotg
Gen Incov

Dat ‘Inoov

Acc ‘Incovv

The Conjunction ‘otv’

Translation

Jesus

of Jesus

to Jesus

Jesus

1. After verbs of communication, such as,saying, thinking, hearing, understanding,

seeing etc. The conjunction - ‘6t is translated — ‘that’e.g.

gldov 011 NABev — ‘I saw that he came’

2. Elsewhere 611 should introduce a reason and be translated ‘because’, e.g.

nABov 0Tt  épuinoa

og, - ‘I came because I loved you’

Pronoun ‘mag’ —all or every

The Greek word mdg is translated every or all in the plural appears in the masculine form as:

Singular

Case word
Nom Tég
Gen TovTog
Dat TavTL
Acc TovVTog

Translation

all,

of all

to all

all

Plural

word

TovTEG

TAVTOV

TAoY

TOVTOG

Translation

every

of every

to every

every



elmov mhvtt T dvBpond — translated, ‘I spoke to every man’

The nominative singular and dative plural of még exhibit an irregular stem. The following

principles explain how they finally arrive to that stem.

IMPORTANT PRINCIPLES

1. Dentals — pronounced from the teeth
Dental letters are 1, 6, and 6. When a ¢ is joined to any of these letters the result is o,
Gs
T+0 =00r¢g

d+¢g=oo0rg

0 +¢ G Or ¢
2. Labials — pronounced from the lips

These include &, f and ¢. When o is joined to these the result is .

Ttcg=y
Brg=vy
¢ +tg=vy

3. Liquids—-A, u, v, p
When a o is added to these they don’t accept it and the stem of the word is completely
changed /changes altogether.
4. Palatals - v, «, x
When a ¢ is joined to the above the result is &.
Y+e=28
K+¢=2¢

N e



Third Declension Endings
Only two forms exist in the third declension, the masculine and feminine forms of this

declension are identical. The neuter form is also similar, so we have two forms.

Singular

Case Masculine/Feminine Neuter
Nom - G or none - none
Gen - 0¢G - 06
Dat -1 -1

Acc - - none
Plural

Case Masculine/Feminine Neuter
Nom - &G -a
Gen - OV - OV
Dat - oYV) - 6Yv)
Acc - g - o
NB:

1. The stem of a third declension noun occurs in all the forms except the
nominative singular and dative plural.
2. The third declension words are known by the genitive singular forms which

have the full genitive stem and the endings.



Example

nag is a third declension word that is masculine in gender. Its full stem is wavt therefore its

declensions are as follows;

Singular

Nominative case: mavt + ¢ (nominative ending) = Tavtg

Though this would be the expected nominative form, because of the principles previously
outlined it is not the nominative form. First combining dental endings with sigma yields
sigma and thus the result would be: mavt + ¢ where T + ¢ = ¢ therefore result is wavg. From
the same principles Liquid stems like ‘nu’ either reject the sigma or change stem form

altogether and in this case ‘nu’ is rejected and the resultant nominative case is ag.

Genitive case: mavt + 0g = TaVTOg

Dative case: mavt + 1= wovTL

Accusative case: TovT + 0 = TOVTO

Plural

Nom TOVTES
Gen TAVTOV
Dat TAGLY

Acc TaVTOG



ghmg is a feminine noun which is a third declension word that is translated, ‘hope’. Its full

stem according to the genitive case is, ehmd-.

Singular Plural
Nominative  gkmig EATIOEG
Genitive EATIIO0G EATO®V
Dative EATTION EATIIOL
Accusative  glmida EATIO0G

vug is a feminine noun which is a 3™ declension word that is translated “night’. Its full stem is

VOKT-.
Singular Plural
Nominative V& VOKTEG
Genitive VUKTOG VOKTOV
Dative VUKTL voéwv
Accusative VUKTO VOKTOG

yowvi] is a feminine noun translated ‘woman, wife or bride.’ Its full stem is yvvauk-.

Singular Plural
Nominative YOI YOVOUKEG
Genitive YOVOUKOG YOVOIK®V
Dative YOVOUKL yovauét

Accusative YOVouKo YOVOUKOG



Ovopa is neuter in gender and is translated, ‘name’. Its full stem is ovopat-.

Singular Plural
Nominative ovopo ovouaTo
Genitive OVOUOTOGC OVOLLO®V
Dative ovouatt OVOLOGL
Accusative ovoua OVoLLOLTOL

NB: The Greek word cannot end with a T and since there iS no ending, the t drops and the

resultant word is ovope in both the nominative and the accusative singular.

Note also the dative plural, T and o join and result in ¢ hence we have ovouaot.



LECTURE 9 (pg 133 of the vocabulary list

GREEK ADJECTIVES

Greek adjectives utilise endings like those of aya®oc, unlike English the adjectives in Greek
changes its endings to agree with the noun it modifies. It must agree in Gender i.e. Masculine,
Feminine and Neuter in Number (singular or plural) and in case. Masculine adjectives
generally have the same endings as the second declension noun Aoyog. Feminine adjectives
usually resemble o®vij, but some may take endings like kapdio and then, Neuter adjectives

are like the noun Téxvov.

Use of the Greek Adjectives

When a noun has an article, ‘o’ ‘the’, the adjective that modifies it must be preceded by an
article. Occasionally the article is written only before the adjective if the adjective appears
directly before the noun. In such a case the article does a double duty. The adjective may

precede or follow its noun, thus, ‘The good man’ may be written in the following ways alike;

I. 6 ayaBog o0 avbmmogor 6 avlomog 6 dya@oc (word order does not matter)
Translated; ‘the good man’.

ii. 6 ayaBog avbmmog. The good man
When the noun is not articular, the adjective also appears without an article as
follows;

iii. aya0oc avlomog or avlomog dya®og  a good man.

When the noun is articular but the adjective is not, the Greek intends the adjective to be a

predicate adjective and a verb like ‘is’, ‘was’, ‘are’, ‘were’ must be supplied.

iv. 6 avbomog ayadoc or ayadog 6 avlwmog - The man is good.



Demonstrative Pronoun “This” singular, “these” plural.

The word, ovtog translated ‘this’, with plural ‘these’ makes use of the same endings as the
adjective except in the neuter singular nominative and accusative. In most of its forms it is
prefixed by the letter ‘t’. It exhibits the peculiarity that every time the ending contains either

a or 1 the first syllable changes its diphthong from ov to av.

Singular

Masculine Neuter Feminine
Nominative 0010G TOVTO a0t
Genitive TOVTOV TOVTOV TOVTNG
Dative TOVT® TOVT® TOVTN
Accusative TOVTOV TOVTO TOVTNV
Plural
Nominative ovtoi TOTO, avTon
Genitive TOVTOV TOVTOV TOVTOV
Dative TOVTOIG TOVTOLG TOVTOLG
Accusative TOVTOLG TOVTO, TOVTOG

In its usage ovtog differs from the adjective in that it will never appear with an article
preceding it, but it does resemble the adjective in the fact that it must agree with its noun in

gender, number and case just as the adjective does.



Examples

I.  ov10G 6 Aoyog - This word
il.  tovto t6 MooV - This boat/ ship.
lii.  tavtng g eovng — of this voice

IV. Tovtolg 101G avbpwmnoig — to these men

The various forms of ovtog may be used without nouns and in such cases the word can be

rendered with the word, one, man, thing, woman etc.

Examples

I.  Aeyeirtovt®d — he says to this one
Ii. Aeyete Tovta — you say/speak these things
lii. tovto Bedw — I wish this thing

Iv. &idov tavtny — i saw this lady



Lecture 10 (pg 133 of vocabulary list)

VERBS

“To be” givon

It is important to know that this so called verb “to be” ivay, is equivalent to an equal sign (=).

This means that the nominative case is always on both sides of the verb.

Example

6 avBpomog éotiv 6 Pactievg —the man is the king.

Both avBpwmog and Bactiievg are nominative. In this case ‘the king is the man’ is the same as

‘the man is the king’.

6 Bactrevg éotv 6 avBpmmog — the king he is the man

The present tense of givon

Singular Plural
15 gipn — I am éouev — We are
2 &l — you are 0T — you are
3" éotwv — he/she or it is glow — they are

The imperfect tense of givan

Singular Plural
1St 7 ,
nunv — I was nuev — we were

2" NG — you were Nte — you were



31 fiv — he/ she or it was fioav — they were

Future tense of sivan’

Singular Plural
3 écopan — | will/shall be éoopeBa — we will/shall be
A éom — you will/shall be ¢oec0g — you will/shall be
31 ¢otan — he/she or it will/shall be écovtar — they will/shall be

N.B

1. The future tense of eivou is simple the primary, middle or passive endings and these are the

ones in bold above. The italicised vowels are connecting vowels.

2. The letters €6, are added as prefixes.

3. The connecting vowel is deleted in the second (2" and third (3" person singular
Other Verbs

Tense in the indicative mode (mood)

The most used mode in the New Testament (NT) is the indicative mode. There are over
15000 verbs in the NT in the indicative mode, less than 2000 forms in the subjunctive mode
and also less than 2000 in the imperative mode is concerned with manner in which the action

of the verb is stated, such as; is it factual, possible or commanded?
Indicative mode

- is straight forward, verb indicates that what is said is real e.g. ‘it is raining’ or ‘it is

not raining.’



Subjunctive mode

- is the mode of uncertainty. This mode indicates that something may occur e.g. ‘it

may/might or could rain’ or ‘it may not rain’
Imperative mode

- shows a command e.g. ‘Rain’ or ‘do not rain’

Indicative Mode

It is in the indicative mode where time is concerned.

NOW

PAST TIME PRESENT OR FUTURE TIME

Secondary endings Primary endings
— Augment signifying past or earlier time Present | loose, | am loosin
&~ Aug gnifying p g

Imperfect — | was eating. (Starts & continues

For some time)

Aorist — | ate. (Starts and stops, simple past)@ Future — I will eat

Perfect — | have eaten. (Action started in the

Past and results continue into the future.)

1. The line under the tenses named, indicates ongoing action.

2. The circle or dot for the Aorist represents a completed action in its simplest form.

v



3. The circle with the perfect tense accompanied by a line represents both a completed

action and the results of that action continuing into the present.

Four Basic verb forms

Earlier than now Now Present or Future
Secondary endings = All past Primary = all non-past tenses.
tenses + &- augment. Imperfect tense endings. Present tense endings
middle/
Person active passive  |Active Voice| Middle/Passive
Number voice voices voices

& 1 -0V Or none -OUnV ® opo
)
(0]¢]
C
=3 2 &G oV cale 1 or 6ot
9

3 ev €10 €l eTal

1 OLLEV opedo OuLEV opebor
A
c 2 T gobe T gobe
Q)

OVGLV Or
3 oV oVTO oVTOl
ovol(V)

e Where the ending begins with a p or v, the joining or connecting vowel is always -o
omicron. Anywhere else the connecting vowel is —&.

e Primary ending refers to or means that the time element is either present or future.

e Secondary ending refers to or means that the time element is some point in the past
and thus beyond any change. Since this term represents a time period in the past, its
verb form always includes an &- augment and in Greek this means at the beginning of
the word.



The meaning of € - augment

1. The e-augment is easily remembered by associating it with E for earlier i.e. earlier
than ‘now’ (present and or future).

2. Thus the present and the future tenses are primary and they do not have the e-
augment. All the other Greek tenses in the indicative mode have an augment in
perfect Aorist, perfect and plu-perfect — all begin with &.

3. The e-may appear as an 1 or an €1, when the verb begins with a vowel e.g. we have

the verb dxovm — | hear

€ ta-Kov (stem) € + o = therefore the stem changes to nkov-

The first person singular verb is therefore — novea — ‘I heard’

4. The imperfect tense endings are also the endings of the Aorist i.e. the first and second

aorist.

First Person

Present Active Mo | loose/ I am loosing
Middle Abopan I loose myself or for myself
Passive Abopat I am being loosed

Imperfect  Active £ElMov I was loosing
Middle Eounyv I was loosing (for) myself
Passive Ehvopny | was loosed

Future Active Moo I will loose
Middle Avoopat I will loose (for) myself
Passive AvOncopat I will be loosed

Aorist Active éhvoa | loosed
Middle élvcapnv | loosed (for) myself
Passive £hoonv | was loosed



Perfect Active Aéhvko | have loosed
Middle Aehvkapan I have loosed (for) myself

Passive Aehvkapan | have been loosed
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Present Active Tense of Verbs

In the present tense and in all tenses and forms of verbs the Greek language indicates the

pronoun or person of verb by adding it to the verb stem.

Endings are as follows;

Singular Plural
1 -0 - | -opev - We
x4 -g1g - you -£T€ - YoU
3" -1 - he, she or it -ovGwy - they

N.B These endings must be mastered.

Greek dictionaries or Lexicons usually list verbs under the form which they have in the first
person singular of the present tense.

Example

Conjugation of péve — | remain

Singular Plural
1} péve — | remain pévopey - We remain
2 LEVELS - you remain UEVETE - you remain
cib: HEVEL - he, she or it remains pévovoty - they remain

N.B In translating these forms the pronouns are not repeated if the verb is used with a noun in

the nominative case.

Example



0 GvOpmmog péver

Literal translation — ‘The man he remains’, but properly translated, ‘the man remains’ since
the verb he remains is used with a noun man, the pronoun is dropped.

Frequently Used Verbs

dyw - | lead, go

BoAro - | throw

YWWOOK® - | know

€€ - 1 will have

BrEm® | see

€0PLOK® -1 find or discover

Aopfove - | take, receive -
LEV®D - | remain

TOTEV® - believe

Aéyo - | say, speak

Aorist Tense

In Greek the simple past tense, emphatic past tense, and negative past tense are all expressed
by one single tense called the Aorist tense. And like English the Greek Aorist tense is sub-
divided into a regular form which merely adds a brief short suffix and an irregular form
which changes the spelling of the verb stem. The regular form for convenience is labelled the
first (1) Aorist, usually written as Aoristl. The irregular form is called second Aorist/

Aorist2.

Examples



Present

e Walk + ed = Walked - Regular form synonymous with the first aorist.
e Buy = Bought (in this case the stem changes completely) no suffix —ed is added.
This is irregular and synonymous to the second aorist.

e Run = Ran - instead of | runned

Aorist Endings

The endings used by the aorist to indicate various persons are as follows;

Singular pronoun Plural pronoun
‘'3 -none or v I -pev we
2" G You -Tg you
3" -gv, (ogv) He, she or it -V Or GO they

- In addition to the endings above, the aorist tense place the letter &- at the beginning of

the word. This letter is designated an augment by grammarians.
First Aorist (Aoristl)

The sign of Aorist-1is the suffix ea which is added to the verbal stem. The personal endings
are then added to this tense suffix. In the 3™ person singular the resultant combination will be

—ogv, from ca(suffix) + ev(ending) = cev.
Four Identifying marks of the First Aorist

1. Secondary endings of the Aorist.
2. Sign or Suffix —ea.

3. e-Augment.



4. Regular stem.

Example of 1° Aorist

TLOTEVM Singular

1% émotevoa — | believed

2" émotevoag — You believed

3 émortevoey — He, She or It believed

Plural

émotevoopey — We believed

émotevoate — You believed

émoTtevoav — They believed



LECTURE 12 (pg134 of vocabulary list)

Verbs whose stem ends in a short vowel such as giiew — I love or épotawm — | ask, lengthen

the short vowel to —m except —ow stem verbs which lengthen —o to —o before adding —co.

Example

ouém — | love

£+ @uh-1 + ca + ending

Singular Plural
3 ¢puinoo — | loved é¢puincopey — we loved
2H ¢puinocag — You loved é¢puinoare — you loved
3" spuineev — He, She, or it loved spuineay — they loved

If a word begins with a vowel, the augment will contract with it to produce a new initial long
vowel. if the original vowel was a or g, the result will be n. If the first vowel was —o, the
result will be —w. If the initial vowel was already long or was a diphthong, the augment will

introduce no change.

épotam — | ask

1-poT-1-00 — | asked

Singular Plural
. npotoa - | asked npotoapsy — We asked
rks npotoag — You asked npotoars — You asked

3" npotosy — He, She, It asked npotnoav — They asked



axovw — | hear

NOTE: Initial vowel is alpha —o and is short therefore will contract to —m. The stem end is a

diphthong thus no change is introduced.

1-Kov-60. - | heard

Singular Plural
T fkoveo — | heard fkocapey - We heard
2% fNkoveag — You heard fkovoate — You heard
3rd fkovcey — He, She, It heard Nkoveav — They heard

oikodouém — | build, erect or restore

Negative Past Tense

To indicate a negative past tense, the Greek simply places —ov or —ovk before the aorist tense.

In rendering this into English, the word “did” must usually be employed.

ovK £piincag avtov; - Did you not love him?

ovk épuinca avtov — I didn’t love him

Second Aorist Tense

The second Aorist forms use essentially the same personal endings as are found in the first
aorist, and they use the same prefixed augment. But the second aorist does not have the tense
suffix of —ca-. Instead, the aorist-2 depends upon a changing of the spelling of the verb stem

to indicate its tense. In this way, it may be compared with such irregular English verbs as



buy, (past tense bought), run (past tense ran), see, (past tense saw). Between the aorist-2
stem and the endings, these seemingly irregular verbs place a helping vowel called a thematic
vowel. When the endings begin with —u or — v, the thematic vowel is —o. Everywhere else it
is €. In the third person singular, the final —v is not a true ending but was originally intended
to be used for euphony whenever the next word began with a vowel. By NT times, it was
usually added regardless of whether the next word began with a vowel or not. But the original
thematic vowel —& was retained. A typical second aorist is £parov which is the simple past

tense of parro:

Singular Plural
15e £parov — | threw £paropev — We threw
2 éBadec — you threw éBadrete — you threw
3" éBarev — He, She, It threw éBarov — they threw

Context will usually guide the translator in determining which of the first and last forms is

intended.

Typical Aorist-2 (The following basic aorist-2 should be committed to memory)

éparov — I threw (BaAlw)

gioov — [ saw (opdwm or PAETM)

gimov — | said (Aéyw)

éhapov — I took or received (AopPdavem)

gvpov — I found or discouvered (gvpickm)

NABov — I came (épyopon)



Imperfect Tense (Past Progressive)

In addition to the aorist tense, which is used to describe a simple action in past time, the
Greek employs another past tense called the imperfect tense. The imperfect tense uses thje
same endings as the aorist and has the same prefixed augment, but it is built upon the present
tense stem. Its sign, therefore is the present stem; and in this it contrasts with the first aorist
(with its suffix —oa) and with the second aorist (with its changed stem). The significance of
the imperfect is that it denotes a past action that continued over a period of time. In this
respect, it corresponds to the English past progressive. (e.g., “I was running”). While the
aorist in its simplicity has often been compared to a photographic snapshot of an action ten
used , the imperfect may be compared to a moving picture of an action. The imperfect is not
often used in the NT; but when it is used, it gives a dramatic touch that should not be

overlooked. The imperfect of paAro should be compared with the aorist-2 of the same verb.

Singular Plural
03 épairov — | was throwing éparropev — We were throwing
2" épaidrec — You were throwing épaidrere — You were throwing
3" épaidrev — He, She, It was throwing éBairov — They were throwing

Note; Both imperfect and aorist-2 omit —oca suffix and both employ secondary active
endings. On the contrary while the aorist-2 changes completely its verb stem the imperfect

retains its verb stem.

FUTURE TENSE




Future active of regular verbs: In forming the future tense, Greek makes use of the same set
of endings found in the present tense but between the verb stem and the thematic vowel, the
letter —o- is inserted as the sign for the future. Thus the future active of the verb meted is

formed as follows:

Singular Plural
3t moteveo — | will believe moetevoopey — We will believe
20 motevosls — You will believe motevoete — You will believe
3rd motevoer — He, She, It will believe motevcovey —They will believe

Perfect active Tense

The perfect active corresponds nearly to the English “I have...” It exhibits two peculiarities in
form. First, it employs the syllable —xa- in place of the thematic vowel. And second it
doubles or reduplicates the initial consonant of the verb stem with the letter —e— to separate
the two similar consonants. Thus the verb AV, ‘I loose’ or ‘I set free’ in the perfect active

appears as:

i.  ldentify the verb stem and thus the initial consonant —
Verb stem — v —
Initial consonant - A
ii.  Reduplicate the initial consonant — A-Av
iii. Separate the doubled consonant with —& — Aciv-

iv. Add syllable ka and the secondary active ending — AeAvka
Singular Plural

T Aelvka — | have loosed Aelvkapev — We have loosed



2" Aelvkag — You have loosed Aeglvkate — You have loosed
3t Aehlvkev — He, She, It has loosed Aehvkav or Aelvkactv—They have loosed

Deponent verbs

A strange situation is found with some Greek verbs. A few rather common Greek verbs are
always found with endings of the middle and passive, but have given up the force of those
endings and over a long period of development have taken on purely active meanings. This
peculiar group of verbs includes also a few verbs which because of difference in idiom
between Greek and English have a middle or passive significance to the Greek mind, but
seem to be active in thought to the English language. Regardless of the explanation of just

how such verbs came to exist or why, the student will have to accept them with a flexible

mind. It will be sufficient to treat them as an irregular cluster of verbs that exhibit middle and

passive endings but possess an active meaning. Such verbs are referred to as “Deponent
verbs” They can be recognized by the fact that they are always listed in vocabularies and in

dictionaries with the middle and passive endings of —opai.

List of common deponent verbs — the following list of frequently used verbs should be

mastered:

dmoxpivopon — | answer

apyopar — I begin

ywopat — | become

dvvapon — | can or | am able

épyopon — | come

mopevopatl — | go, journey



The following derived compounds should also be memorized:

amépyopon — | go away, depart

dépyopon — I go through

eioépyopon — I go in, enter

¢Eépyopon — | go out, come out

npocépyouar — | go towards, approach

The Verb éOvapor —I can or am able

The Greek verb éOvapor - | am able, also expressed in English as “lI can2 shows some

peculiarities. In the first place, it employs no thematic vowel. The middle and passive endings

for this deponent verb are added directly to the verb stem Svva-. In the second person
singular, contraction often takes place, resulting in d0vn. Occasionally, an uncontracted form
is found which exhibits the primitive ending of the second person singular: dvvacai. In its
usage, ovvauol is normally followed by an infinitive, and this infinitive may at times be

translated without the English word “to.”

Thus: dVvaton ideiv the infinitive of €idov is ; He is able to see.



